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Zupglh nuunigps

unphnipy Eup mwjhu wnwewunpuputipp junwpl) pun htippuljuinipui:
Nupwnhp upnugk p jnipupwisnip wnwewnpuip: Gpk sh hwennynud nplik wnwewnpuiph

widhowytu  wwunwupwut), dwdwbwlp pbuwbnt tywunwlnd Jupnn Gp npub

winpununiw] wykh niy:
PEun-gppnylh kokph nunnupl dwukpp Juwpnng kp oqunugnpdly uliugpnipyub

hunfwuip:



Puywh u k Ynsynud snp pinphsny wunnpuunws pdnpp: (7 whunjnp)

1) ppytgpus
2) thpupnil
3) wuwpq

4) hwdtnniu

Sunjuph dubnhphg nmuwuldwi hunfup oquuuqnpsnid k' (7 wpunjnp)

1) Ypdpundpup

2) udtgph tplup dljwmip
3) Yquudpup

4) wqnph Ynnph djubp

Spywd fruginbph wkuuljitbphg 0 pp sk poyunpdnd oguugnpsdt) npnduws
wwwnpwunbint hwdwp: (7 dhun/np)

1) puykunc
2) Tudnpkunt
3) Jununt
4) tnlunt

bty bquiulny £ junhwipupp hpuwljuwtuginid nunkunbtph junnwiunpnonidp:
(1 Jpur/ap)
1) opquunjtuwnhly
2) ppYuwjunipjub swhdwb
3) jwpnpuwnp
4) hunphppunduljut

Qbpuuht Upwldwh n'p byl E Yhpungmd dpbppubpp popnp Yagdkphg
hujwuwpwsuth Yinbwwwnbine hwdwp: (7 dhunj/np)

1) phunudny

2) wnuwwlnudnyg
3) puwoniuny

4) umni-Yhpny



Qtpuuyht Upwldwi hpfulwh Abh n’p byutrarlh £ fhpungnd dhugh oks
Junpny dubp yuwnpwunbint hwdwp: (7 dha/np)

1) bpp

2) pwidpwhiwydwi /mudtiny

3) pphqbpwynpdwi

4) huwpdwt hhdtwluh

Lwith” dh mith obpuught dpwlynudp: (7 punjnp)

1) wmwuthhtq
2) wnwulynp
3) tpkp
4) kpynt

Fhajuspwdwotip yunpuwuwnbjnt hwdwp oquugnpéynn pmdhtiught pugut
wbwp Ehuh (7 dpunnp)

1) snignitthg (pniohg)

2) twhwuybu Swpyuyunygws b Jput ywupuhdwn guudws

3) dwpuh htkwn dhwuht juy nupwugdus

4) ydwltignuynn wnnuwinhg

‘Lojwdubkphg n pi Euindwnughb pubgwpbnbi:

1) ququpp
2) nuhlyp
3) ghwnuwutidnpp

4) Qubtwy ynubnp

bugh’ Ukg E hpuljubugymu ynghhaugnuip:

1) pnuph

2) onglah /qninppwitith/ juipuuyh
3) wyunnljuyh

4) dké Jupuwgh



B £ ynsynud uygh obpuughn Wpwlynuidp, nph hurdup Yhpumynid kb oph htigmyy b
ququhtt yh&wiljubpp: (7 dfpunfop)
1) huwonid
2) phunud
3) hwdwlgnid
4) nwwulnid

ﬂnp JEpuypunbtuwljutph hdpht B yunjuwiunid wnuunbkpp:
1) uwnp
2) pungp
3) wmup
4) hhdtwlut

Pusuyk u b puuwljupgoud dubpp wujuph dubnhph dwuiunnidhg htnn:
(1 dpufnp)
1) pwg l Uniq qnyh
2) dwpwuwyht b Smpyuqbkpddus
3) L Il III yupgkp
4) Ynow, nmuthwul bk opuh

B gl £ hwinhuwbmy gbpuim pyut thnjuwnphs gbpuundywlynng Gl
nwpwdnipjul uwppuynpdw uky: (7 dhun/np)
1) ohjugus wénijuttipp

2) 2hljugus onp
3) wnwpugus Supyp
4) wwp nkup

Puywh u ki jupmu nuwyuwldwi hudwp tujeunbujws dubpp: (7 dpujop)
1) hunpuwbtwpnpuwdl jud ninnuilynit
2) djwuwjht hyintujwsputphtt ninnuhwyug
3) Epjuytwhh
4) 2btmulh



Uwniplikpp, pun dunnigdwh gbpdwunhgwih, nuuwupgqynud G (7 dhwnp)
1) bEndwl b uwunp
2) uwnp b gn)
3) qn b wunkgywsé
4) wwp b uwunp

Zpltuwh nunbunh hbn dunmgymud ki hbnlyw) jwdupaibpp (7 dpayap)
1) hbkow jnipugyny
2) pwulbwnuwght
3) Uhwyjti tnwp
4) wuwpq jud pupy

Nppw 't k£ 1 gpuud &wipugh joipugmufhg unwmgnn Fubpglnhly wipdbpp:
(1 dpunjnp)

1) 9,3 4/juy
2) 4,1 4/fuy
3) 6,1 /juy
4) 10,7 §/juy

N pb Eudbbwwuyni Jpowdhip: (7 dpunjnp)
1) A
2) E
3) C
4 D

Npb b hhdiwljwi tnup mnkunh dunmgdwh shpdwunh&wip: (7 dpunjop)

1) 32-45
2) 60-65
3) 85-90
4) 51-56



& pp bt wljughnud wyp $ph Enwibunyg weygwlgng upnndht: (7 dpayap)

1) obpdwdowljdwmb pipugpnid

2) obpdwdowlnidp wjwpunbkinig htwnn

3) uhtsh obpdwdpwlynidp uljubip

4) obpdwdowlnudp wjwpunbinig 5 pnyk wnwy

N°pl E oph bl gbpuwunh&wip uinhlh uywb 760U guodwh plupnud:
(1 dfurjap)

1) 80
2) 100
3) 97
4) 105

N0°p ot E hwdwpdmd ghtanhly: (7 dpunnp)

1) wpunwunpnipjut yuwhhg dhsh 9 op
2) wpununpnipjub yuwhhg dhtsh 13 op
3) wpunungpnipjul yuwhhg dhtsh 7 op
4) wpununpnipjut yuwhhg dhsh 15 op

Pusuyk u E withhpwdbow k awply opquinuljwi pentikp wpupniiwlnn Juib
pwbowntntubpn: (7 Jpw/np)
1) wnwlg tnh
2) gpuyht punthpnud
3) pny] tnh yuydwutbpnid
4) owwn pwtwlh nidght knwgnn wnweopnid

Opput whwp  (hith wyyniph puquuht et npgoctp: (7 dpasgnp)

1) 14.5%
2) 15.3%
3) 11.1%
4) 12.5%



Otpuuyht Upwlwi n’p byuinalh E jhpumdma inghlp Yhnlwqbpsknt hudup:
(1 dpunp)

1) uwungdwl

2) pwtdpwpiwrdw (nudbkn)
3) wnuwyuwldwbt hhdtwljwt
4) tngpuwt

0'pb E Swpwyuyminn Jhnwdhbp: (7 dpurjnp)

1) PP
2) K
3) C
4) B12

N°pl k gbpuiught dpwldwh Ynuphtugyws tywbwlyp: (7 dpuargnp)

1) Lwpuyubnnidp
2) gpuypt punhpp
3) onghkjuwpnup
4) pwbdpuwuwonidp

Bty wn whnp k oqunugnpéty anhwpupuljwh tuuwwnwyny: (7 dpaninp)

1) synnugdud
2) Shukgud

3) hwdbuyws
4) thwphunwght

Funhwpupp hiswh u yhwnp Eyunnpuunh nunkunp hwbnpught uibigh
dintwnpynipynimd: (7 dhun/np)

1) Yuynyjughwihtt hwdwywnwupuw

2) wkhiuninghwljut pupwnht hwdwywnwupuw
3) hhonnnipjudp

4) tqupht hwduywnwupwt



Spqwistikphg 3-p wwwpwwwnnuyhl pubguptnkutbp b Lok gubg
hwdwpubpp: (3 dhur/np)

Jupundhy
wuwuwnbpbuly
nuhy
ghintiwjutidnp
ququp
putnun

Junudp

NS U ke W=

Spwéhitphg 3-p umnUnhwqghikph pvwthphtt yunljuwing dyukp G
‘Lot npuiig hwdwpubpp: (3 Jpunp)

Jupupwhiwgn
odwdntl
hohuw

|npn

pnLuw

JtEwnw

punuth

NS Uk W=

Spywstubtphg 3-p dubphg wunpwuwnynn puuljwt jhuwpwpphjuntitnh
wnbuwljubp B Uoky npuitig hwdwpubpn: 3 vhw/np)

UkS Junpubtipny

hjnipwh b opuigplpfws

pnt)| wnunpiwus

thnpp junpubpny

Uinp b punwlyniuh

now bt thwthnily

pwdhuwghtt unputipny

N o s W=



Spywsubtphg 3-p wunnuyht pmbgwpbntuubp Gu: Lok Hpug hwdwpukpp:
(3 dpurjnp)

NSV ke W=

gntju unpu
udpnily
pnny
Inhy
wwwnhunb
gunquil
puignily

Znlyu| uwngpus Yhuwpupphljunntibphg 3-p Yupbih b ghpiudull) wowbg
huy kgubnt: Lok npung hwdwputpp: (3 Jhw/np)

NSV ke W=

wdpnnowljwt nynidp

Jupuwnguws b tnopydws Jupunndhip
uUkSd Junpny vhup

wdpnnowljut dniyp

Quitiwy nphlu

wudpnnowljwut hwyp

Supuyubkndws pwbpwptnkuubpp

Spyws wjunmidutnhg 3-p &hown b Lok npung hwdwnpubpp: (3 vpw/np)

1.

Zujjujut pnhwingh hhdtwljuwt wpwtdutwhwwnnipnittphg k unjujh
unniuh Jhpwnnipniip:

Zujjujut ppnhwingnid nunkunh wjutnip pund £ gpu yunpuundw
nkjutininghwyhg:

Iunhwpwph hhdtwljwu gnpshputpt G hp 5 qquyupwutbpp:
Yhuwdwpphjunttpp qunpuunynid tu ninkunh unhwpuwpuljut
Jtpotwjut dpwljuwt thnyynud:

Uwpgnt 1 opdu JEtuwgnpéniutnipjutt hwdwp wthpudbown utintunp
Ynsynid k Lwy:

Ungutipp wuwnjuwinid tu vwep §hpuljpunbuwljubph judph:
Ququph gnibtwynpnn thpluiynipn Ynsynud £ npput jupdhp:



Spywsubtphg 3-p huyljuwh hmgunbtuwlubp Eu: Lok ngpuing hwdwpukpp:
(3 dfpunp)

NS e W=

il
pwwnni
pughun
wniph

2np
popnnhiyuib
poup

Npnup b yunpuwunh mnbunh dunmgnidhg wewe hpwljwinugynn
hhdtwjut gnpénnnipjniuubpp: Lok npuug hwdwpubpp: 3 dhw/np)

1.

NSk W

Jupuwh b mwuyuljh thuy gnid
hunhwpwpwlju yepottwjut Upwlnid
wupktwyhtt wypwuputph (Jugnid
wnuwhwdbunitipuyhtt ppuntunipnh ywwwnpuwuwnnd
wupktwyhtt wypwuputph qunid

otinngh twpiwwwwnpuuwnnid

hunhwpwpwljuwb twptwub dpulynid

Spywsutphg 3-p muwuljdw hwdwp oquugnpdynn thwl mupwsnipniiukp tu:
Lok npuitg hwdwinpubpp: (3 Jpunfnp)

N oV s W=

ongtlntyklghnt otinngp
wunnyjudp
hwunttmgdwt okpduywhwpunp

Juthwuphsny dwsldws pudu
unynpuljub oinngp

Juthwphsny dwsldws jupuw
thniop
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Uwniplitpp puuwljupgynud kb pun npduistiiphg 3-h: Lok npuiig hudwnpbpn:
(3 dpurjnp)

wnipitph pnqudnipjui
wuwwnpwuwndwb dih

dubph mbuwlubkph

hniyh hpuiph
putigwptnbwht judpkph
dwnnigdw obpdwunhgwith
qnijutph

NSk W=

11



